6 1 introduction
2 establishment
3 suspension
4 emergence
5 elimination
6 foundation
7 cessation

Unit 12

1 1 fluctuated
range
dramatic
stabilized
underlying
maintain
successive
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2 suggested answers
1 stabilized 2 rose steadily / increased steadily
3 fluctuated (slightly) 4 within the range of
5 the underlying trend

3 11 2D 3D 4D
4 1 h/k 2bl/i 3 f/j
5 1in

2 within

3 in

4 for

5 of
6 in

4 ale 5d/1 6clg

Unit 13

1 1 expansion
2 shape
3 shift
4 migrate
5 in response to

2 1 expand 2 evolution 3 respond
4 migration (the noun migrant also describes a
person who migrates) 5 shift

3 1 shifted/evolved (evolved is a less natural
alternative)
2 expansion
3 respond
4 shaping
5 evolved/expanded (expanded is a less natural
alternative)
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amend 2 modify 3 transform 4 upheaval
substitute 6 replace

W
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modifications were made

2 & making the transition

¥ B¢ me-ewaluate the situation
£ T =mwemd the laws

S & =piementing the changes
B = sncisl) palisical upheavals
T TSI T Way

Unit 14

1

3 dwelling
6 tower block

Formal: 1 property 2 housing
Neutral: 4 house 5 home

1 nationwide

2 properties

3 regenerate

4 facilities

5 local communities
6 most deprived

1 regeneration 2 facilities 3 deprived
4 properties 5 constructing

1 F (if a problem is widespread, it exists over a large
area) 2 F (an isolated community is far from
other places and does not have good transport
links) 3T 4T 5T

5alc 2e 3g 4h 5d 6b 7f 8a

5b 1 property (property is a more general word (it can

be a house, an apartment, etc.) and it is more
formal)

2 widespread (widespread and common can be
synonyms, but widespread emphasizes how
many people/places are affected by something
and common emphasizes how frequent/usual
something is)

3 isolated (isolated can mean that someone feels
separate from other people for many reasons;
remote is only about physical distance)

4 renewal (renewal and regeneration can both be
about improving and repairing something, but
renewal can also refer to making something valid
for a further period of time)

Unit 15

1

siblings

marital partners
generation
inheritance

1

2

3

4

1 marital partners

2 relationships between
3 modes of inheritance
1 siblings

2 generation

3 relationships between
4 inherits

5 partner

6 related to

7 spouses

c 2d 3b 4f 5a 6e

1

1 into

2 10

3 against
4 of

5 between
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